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	Four from:
· Stores IP addresses
· IP address is a unique identifier set up by network manager/ISP
· Can change but should match the network it’s on
· IP address consists of 4 numbers separated by full stops
	
· Stores MAC addresses
· 6 pairs of hexadecimal digits
· MAC address is usually hard coded by manufacturer, never changes
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A mark can be awarded for a reasoned conclusion.
If one side of the argument .. all advantages/disadvantages then 3 marks max.
If botn sides have been addressed but without expansions/comparisons then 4 marks max.
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Internet is not policed

Material on the internet can be biased

Material on the internet may not be reliable

Anyone can create a website on the internet so inaccurate information can be
posted

Can visit inappropriate sites on the internet

There are more security issues when using the internet

There are more distractions when using the internet
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‘The devices automatically connect when they come into range
Tablet sends radio signals to the printer / printer receives radio signals from
the tablet

Tablet receives radio signals from the printer / printer responds using radio
signals

Ahandshake takes place

Award a mark for mention of use of 4 digit code for access / default code /
‘auto connection with code / some devices don't need code

Uses a band of 79 radio frequencies / channels

‘The tablet computer randomly chooses one of the radio frequencies /
channels to use

Ifitis being used it chooses another at random until it finds a free one
Uses spread-spectrum frequency hopping

2 marks can be awarded for a good description of the handshake.
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Comparison

Both are network devices

Both are hardware devices

Both have computers and devices connected to them

Both send data to devices/Both are communication devices

Contrast

In a hub data packets/data are broadcast to every device connected to it
Ahub is less secure than a switch in distributing data

Switch checks the data packet

Switch sends to an appropriate device

To gain full marks both contrast and comparison is
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Cloud is large groups of remote networked servers
They allow centralised data storage
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Disadvantages.
Loss of control of the data.
as the data is controlled by a data storage provider.
the user needs to be able 1o trust the service provider and its staff.
security issues with the storing of the data with the provider
firefflood/electricity spikes can affect data without the user knowing
The data remains on the server for a length of time.
.easier to be hacked as more copies of it available.
available for longer.
users must use strong passwords/authentication methods as hackers have longer time
be abl to crack the password.
as several copies of the data are available
If data is not encrypted...
can lead to securty issues due to loss of control/hacking
if connection is lost then the cioud cannot be accessed.
data could be lost due to this.
If there is a mass/ot of ata the data could be spii over several servers.
may have problems retrieving the data
may lead o security issues.
data may be lost during the saving process.
Cost of using cloud is more expensive than buying a hard disk/SSD.
most computers come with a hard disk/SSD
Difficultto delete all copies of a fie.
as the data is stored/backed up several times.

Advantages
The data s accessible anywhere..
helps to migrate data from one device to another.
helps to synchronise data
Don't have to buy storage devices.
some devices do not have hard disks/storage
the cloud can be used for al storage requirements.
More storage space than using physical devices.
the cloud has lots of storage
Don't have to manage the storage.
the service provider manages the storage
user does not have to worry about security measures as service provider secures data.
Allows many users to access the data.
as the data is stored centraly.
Only pay for the storage you use.
much of the space on the hard disk may be wasted.
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